i
m
2
%

1. ¥4
kB4 S 6EE M LENERIE(E e Gt R
AT T A LR ) 1] ] T 5

2. ¥HENRE

1) FHEI4

2) JEATHIM

PR EEF BT BhKER

198 HFH H 47 64 87I15H
S T4 2 28H

3) WErEMA

4) EHBNE
JRCHTE A e R BT R E AR R
o AL IR B R IS R
Hi AT A3 B T 3% ST R E AR
5 2 BRI i st ST A

ARZERS (AR (L)) | ELE BT N OB

13K
13K
13K
13K

i

EtrEE  E TR



i
I
T
Tl
P=ai
I

EW4 | BF6AEE  LENESEIE R G ES ER i EHES
H B BERGHE s s 5T
B E I % i 3 B {7 ¥ & & #A AW BN RR
TERIB(E MER A F =X 1 9, 842, 700
SELEY T =X 1 5, 645, 100
g A R e 5t = 1 4,940, 600 | FEFEIH RN SRR EAIRR B
1 =
FORHIEE 15 - Bl R 7
e s Ea 2V 1 704,500 | b RAIEHAERME R E
1 =
A v
W G = 1 4,197, 600
BRI e R A 1 4,197,600 | Hy T AT A3 MR it T e 7
1 & AT
Fh Ve b T T AR E
PN L) RS R
1 &
LR)A 5 (EEER)
BisST] = 1 679, 300
il GREFED) oy 1 679, 300
e oy 1 422,500 | ITAE
1 =
Z DA, 2V 1 129,600 | HEAEHAREIC L DG
4 [
VNG S X 1 127,200 | ZABERRF AL VERL
1 X%
B = 1 511, 288
[EReE 3 = 1 511, 288

-1- EtrEE  E TR



=
=

i
m
2
I[>DL

EW4 | BF6AEE  LENESEIE R G ES ER i EHES
H B B
B E I % i 3 B {7 ¥ & & A OB R
Vi @ik = 1 66,288 | St (Fit Lk - ERE)
1 =
R e 2 1 445,000 | RS IER Y
1 A
ERFEM (ZOMFEMER<) = 1 11, 033, 288
Z O JFAf = 1 5, 666, 097
— N E B 2V 1 8,990, 615
eSS 2V 1 25, 690, 000

-2 - EtrEE  E TR



